R:\Clients\Trinity PERMANENT\Florida Product Approvals\FL-15129\Drawings\Current\FL-15129.1-4.dwg, FL-15129.1

o

TRINITY GLASS

INTERNATIONAL

OPAQUE FIBERGLASS

"IMPACT" DOOR
INSWING / OUTSWING

GENERAL NOTES

This product has been evaluated and is in compliance with the 5th Edition
(2014) Florida Building Code (FBC) structural requirements excluding the "High
Velocity Humicane Zone" (HVHI).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind bome debris protection this product
complies with Section 1609.1.2 of the FBC and does not require an impact
resistant covering. This product meets missile level "D" and includes Wind Zone 4
as defined in ASTM E 1996 and Section 1609.1.2.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same as
that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevations, design pressures & general notes

Door panel details

Horizontal cross sections

Wertical cross sections

Buck and frame anchoring

Components

~l|o~|en| b o |ra|—

Bill of materials

37.50" MAX. O.A.
FRAME WIDTH
]
o g
= =
2 5
= O
5 T
2 &
o T E
x W O
E -
< = O
: oz
- E
B o
- N
oo [=]
| =
T |
MAX. — DESIGN PRESSURE (PSF)
DIMENSION - "% | POSITIVE | NEGATIVE
WOOoD +75.0 -75.0
37.50" x 81.88" —
rBERGLASs/comp | +60.0 | -60.0

w
()]
]
M
Q™
z
&b
£ sm
Zum'.q
L g
R
7] e 00
Om o6
= on®2
51 L& I oI
=3
v D o xz%
£ Ea Zm,
a £O g cw
fan S5028&
L T4 BDoTL
2
(2]
g ¢
E 07 &
3 W .
g cu
o 0o
)
L]
zZe
SO
o n=
= =
Z .
0 =
%] o=
R S
m)
> a2
= tn
: |4zt
g o2
5 x| &0
o L
a by
o Bl X
v < o
o o
'.'A':"-l'})_
=4l
&
L
B
b bt
WEIT
A8 £
Bl=| ©
I |n
o= 0]
E§ E.
E—I
o fy
=|in
]
e
O
]
N
S|kl
NNE
oy et
—lo
Nz
pare: 1,/18/12
SCAE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—15129.1
SHEET 1 oF 7

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Trinity PERMANENT\Florida Product Approvals\FL-15129\Drawings\Current\FL-15129.1-4.dwg, 2.1

PVC STILE CAP

79.25" MAX. PANEL HEIGHT

I ]' 58" ——— \\\\\\ ,,I// /,
FIBERGLASS L I\
EXTERIOR LOCK BLOCK PVC STILE CAP PVC TOP RAL S . o
] - 032" SKIN \ 2.48" | 1.58" _»_‘ T ] s:\o:o' 8 ‘.. 2 §
e = I.‘. 3 0 Jd=Z0 M
=5 1 L=Z
] i \ Y ol < X ESz=p 5
: / : | z®:3 9 &IOSy .=
3 ~ Z v, YOS Z 8gm
= A — = ’, ‘e o g N % o o -
- £ cl{’l % . *eeeegses® * \\\ ':j o 8 ©
|7 frener e ’ 8 oS 3258
L \- J g nL\‘.\.\ § ﬁ ©2
LVL STILE POLYURETHANE INTERIOR LVL STILE N f $ ox3<
0.10" - FOAM CORE —_— TE i, 2859
031" . /1" HORIZONTAL CROSS SECTION N [FaE sogd
. a v DO NMNcm
4 @doadih
2w,
g s2 §
35.75" MAX. £ 3,
PANEL WIDTH 8 2 @§
[ A
ql T ~ 2
= [ j{
3 =< £
wn g)) Q
[I I] [l l] EXTERIOR INTERIOR 3 |3g
- (1N ) /- ~ |3 T
Y, | o c B
05 ||  POLYURETHANE ciE 1 8
° < 2 {L—FOAM CORE S S
2 i & %
o [s
— SEE HARDWARE + ) : ol
O/%_‘ CHART i - i
B N ]
) ‘ v : B
SEE § : =
DETAIL 1 ‘ : DOOR SKIN ES
; NEIRT
. 12| 2
Q B3 2
) DETAIL 1 E % &
ol [
=
o
2 5lg
: n |
MANUFACTURER _ MoD PVC BOTIOM RAIL —— ! DR
KWIKSET KNOB: SIGNATURE SERIES NN
. OPAQUE DOOR DEADBOLT: SIGNATURE SERIES (980) £ g | o~ g
KWIKSET §|r:;?&?u?a:§2:|2§rézomo PACK (991) 16— wE_1/18/12
DOOR SKIN: 0.070" MIN. THK. FIBERGLASS ) ScAE:  N.T.S.
CORE MATERIAL: POLYURETHANE FOAM KNOB: F SERIES —~—1.76" —= Dwe. B:  JK
SCHLAGE
DEADBOLT: B40 SERIES oo LFS
/2 "\ VERTICAL CROSS SECTION DRAWING NO:
2/ FL—15129.1
SHEET _2 oF _7

© 2012 R.W. BUILDING CONSULTANTS ING.



R:\Clients\Trinity PERMANENT\Florida Product Approvals\FL-15129\Drawings\Current\FL-15129.1-4.dwg, 3.1

1-1/4" MIN.
EMB. (TYP.)

(b 18 -

71"\ HORIZONTAL CROSS SECTION

f-N
8N

0.15"
~— C'SINK
(TYP.)

INTERIOR

~

\y Outswing shown - Inswing also approved

/0000

2 (@

N
3 4 5
4 4 4

00600

@)

INTERIOR

1-1/4" MIN.
EMSB. (TYP.)

A\

EXTERIOR

m HORIZONTAL CROSS SECTION

w Shown w/1X sub-buck

W

1-1/4" MIN.

0.15"
C'SINK —o] |a—
{TYP.)

0000

INTERIOR

)

-

EXTERIOR

/2 HORIZONTAL CROSS SECTION
w Outswing shown - Inswing also approved

EMB. (TYP.)

x

YYLLLLT,

I,,

813.659.9197

P.O. Box 230, Valrico, FL 33595

Documents Prepared By:
BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE C.A. No. 9813

TRINITY GLASS INT'L
HORIZONTAL CROSS SECTIONS

PRODUCT:

JK | PART OR ASSEMBLY:

LFS
BY

12/16/14|REVISED LOCK HARDWARE

2 {03/02/15 | UPDATE TO 5TH ED. (2014) FBC

1

NOJ DATE

REVISIONS

DATE: 1/18/12

scAlE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15129.1

SHEET _ 3 oF _7_

© 2012 R.W. BUILDING CONSULTANTS INC.



TON| SINVATINSNOD aNIaling m'a 2.0z [@)]

€186 ‘ON V'O 3dad SNOISIATY
L616°6G9'CL8 'ON euoyd Ag 31va TON -
S6SEE T4 ‘OOMIDA ‘0T X08 ‘O°d \SU SNOLLD3S SSOHO TOLMIA 1o FUVMGEVH Y001 G3SIA3d|71/91/Z1] b m glx|®| ¢ N
*ONI ‘SINVLIINSNOD SNIaNg @ CA18WESSY HO Ldvd | e 084 (¥102) ‘03 HIS Ol 3Lvadn Gs1/20/¢0l 2 |0 _.Nl ~ . m &
N Y
60y "ON ‘I'd =l |&|&|g |
IPILYDS ‘4 Uopuk] TANI SSYT19 ALINIML i IR m
:Ag peupdeld sjuswWInNoog :10NA0yd W W M 5 w &
1z ST/
..inl..w.m\
- ('dAL) "aw3
NIW P/ L1
[
(<) 2
oe
(*dAL) "gw3 o =
NIW /11 < >
. (O]
v ;44. A -.Qr_v
o ~ e
o ]
< (o]
. ac
(® S
o M —
o =
O Q Vo
= < o = c
S = g2
N —
Sy o
3|8
., xS
— U=
. ==
| S
g
S & 2 (‘dAL) "ana
v S5 ‘NIW ./ 1-1
(% N N
= )
& i
w

INTERIOR

EXTERIOR /\\/
w Outswing sill

(4 \ VERTICAL CROSS SECTION

("dAL) "awW3
NIW ./ 1-1

Yo ("dAL) "aW3

NIW .F/L-L
P-4
& )
Z = Qs
o < q|o
= Ol
0 sk
8 - 2%
a 3z <5
Sca Z SE
“COO mm
-5 Q9 >0
< oo
Vo
Eif D
S0E <
5 @ |
24 - ﬁlu v
Q i o9
oc ﬂ <
m W
w

1'% ‘BMPp-1'6ZTST-T4\IuaUND\SBuIMeIA\6Z TS T-T4\Serosddy 1onPoid epLoi\ I NINYINYTd ANULL\SIURID\ Y



R:\Clients\Trinity PERMANENT\Florida Product Approvals\FL-15129\Drawings\Current\FL-15129.1-4.dwg, 5.1

2X BUCK
1XBUCK
—  TYP.HEAD
AND JAMBS
TYP. SILL

_ , | r-——— 6" (TYP.)
.. 4 e ' o : »"
. 4. . e -
B 4_, B 4 < a - /
: 7
l

o - > ——
a -

C e <. "_ . g
. s 9 e )

. T .

- — N a

¢ . SEE HINGE
Lt %/ 4} DETAIL 1 —
4 = ~°i A — -lo' ] * 4‘”"'
B 4. | l l—- B 8.
. . EEDAENE
BE < ] RE
— TYP. HEAD S
YT ANDJAMBS T ke
3e ' /
2XBUCK —| £ d 2XBUCK
=0
s Aot J///
oy
< O
zE L F i T DOOR
2y NN FRAME
0O
SEE
MASONRY HINGE MASONRY
OPENING DETAIL 2 OPENING
-t jumpened Lonm ) s /
< d .: :q < 4
BUCK ANCHORING HINGE JAMB
CONCRETE ANCHOR NOTES:

—

. Concrete anchor table:

. Concrete anchor locations at the cormers may be adjusted to maintain the min.

edge distance fo mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are nof exceeded.

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

®
-

J el o
x

\,,
® @o

“3

W BUILDEX | _3/16" T1/4 3 11/2"
TAPCON 1/4" 1-1/4" 2" 4"
ULTERLACgON® /4 1-1/4° 1" ol @

FRAME ANCHORING

Masonry construction

HINGE DETAIL 1

%
>
<
-
s

2X BUCK
1X BUCK

0.C. (TYP)

~>j L— 5.50"

STRIKE JAMB

I .|

of o

i

HINGE DETAIL 2

° . G 0
SQF K 2
0 A -
SS'w 3 AR
:I:& 3 A0 M
ZOif] ¢ X i$=Z oy
Em:.o § Q":osg_; ‘6
W, SOS Z 80;
283 DL SEET
// .0.' ..o. \\ 5‘6«,
/, ‘.... \\ 3>Fi
7 2 N\ 7]
(7 \\ Zow
Y I 29
5‘ O N -
o
‘\'\ o O Xz
B - [}
\k'g EQ} gm ]
\\Cﬂ §-§g 4 .5
1) 5Q0c¢
@? e "2 @ok
2Ln
€ _o
o C
E g% §
0 cui
8 2a @§

STRIKE PLATE DETAIL

2X BUCK
1XBUCK

®

FBPE C.A. No. 9813

-~

-

= <
X

)

a E=

3 5 a8

© mf =X

= |3 <8

= X

= |98

© < D

. m

517 x

3 o

gl |E

o [+
X|{n[>-
I o [0
B
EE
QA=<
Y= |
A2l 12
g o
Lu§: &
£l >
0l
olSl |®
Q=
i B
gﬂ
5|8
¥
N
SRE
NIN\NA
3N
~lo
Nz

DATE: 1/18/12

ScALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL—15129.1

SHEET _5_oF _7_

© 2012 R.W. BUILDING CONSULTANTS INC.



CON| SINVLINSNGOD 9NIaUnNg "Mm'd" 2102 @

£186 'ON V'O 3dad SNOISIATY
LBL6'6S9°CI8 "ON ®suoyd Ad 31va TONJ oy -
S6SEE T4 ‘O9MIDA ‘OEZ Xog ‘O'd \Su SININOdNOD ST FAVAGIVH 001 dasATa[ri/at/zi] | |c|vilx|L| @ N
*ONI *SINVLINSNOD SNIgNg \&’ CATGN3SSY ¥0 LAvd | e 084 (¥10Z) '03 HIS OL 3ivadn|siL/zo/col| 2 W, M - . r.nlu &
e [o]
Z ~— | ©
60y ‘ON ‘I'd E AR _
IPIWYOS ‘4 uopuky TANI SSY19 ALINIML fldlelx|E |8
. :Ag peipde.d sjuswnoog -10Naoyd -3 m 2|3 m %
ZT7S
\’lr’um :Om._.\_‘.illli
2 _
(o]
; o}
5y 2
x > M
& m e
M 7] HM (o]
o~
|
W9L'0
[ .
) <
[°] =43 5
° —
s
Sla
f 3
w
4 5
68 ©
R
L
@ 0 ~r
(o]
(o]
|
JE|
P— —_— [— o - ._O.n.
2 2 |
3o
7 358 y § 9
- ~ 5 S,
W e, Qa i
<|'3q o2 " Z &
8% b < =
1 Qe =2 1 a
M O - M [©) B ﬁNv
|02 b gz M.v m
~ B
<
O, ©) 3
®
o~
1
SL0 a !
2
[
=
S 2
~O -—
SL . 0 2
"‘ .._.m —. *‘Il M
| | ‘ )
. = @ [
g Wl g 5
< o 3 9
) Q S 1 g
% 2w () < i
) ) Q [
~ M g ~ - :A. O =
wil o Tz - (Y]
. I B =
8 ™ ~ =3
X 1 BS
(o]ks
..WN.—, i _ i :WN.O

T1°9 ‘BMP'p-T°62 TS T-T4\usLND\sBuImeIa\6Z TS T-Td\s|eAoiddy 1onpold epHOI\ININVINYTd ANULLL\SIUSID\Y



oooooo
......
)
o

*
2 ‘e .
,,/0 I Priind
7
BUILDING CONSULTANTS, INC

w
FL 33595

P.O. Box 230, Valrico,
813.659.9197

Lyndon F. Schmidt
P.E. No. 43409
Phone No.:

Ry

TRINITY GLASS INT'L
BILL OF MATERIALS

PRODUCT:

JK | PART OR ASSEMBLY:

LFS
Y

FBPE C.A. No. 9813

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL
A 1XBUCK SG >=0.55 WOOD
B 2X BUCK SG >=0.55 WOOD
C 1/4" MAX. SHIM SPACE -
D 1/4" X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
F 1/4" X 3-3/4" PFH ITW CONCRETE SCREW STEEL
H 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL
J #9 X 2-1/4" PFH WS STEEL
L #8 X 2-1/2" PFH WS STEEL
P 1/4" X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
] JAMB (FINGER-JOINT PINE - SG >= 0.42) wOOD
2 JAMB PVC
3 JAMB FIBERGLASS/COMP
4 JAMB PVC
5 INSWING THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUMINUM
6 DOOR BOTTOM SWEEP PVC
8 #6 X 1-1/4 PFH DRYWALL SCREW STEEL
12 | WEATHER STRIP QEBD650 Q-LON -
18 |3.983"'X 4.0" HINGE MIN 0.098" THICK STEEL
19 | SILLKEY PC/ASA
22 | DEADBOLT STRIKE PLATE STEEL
23 | STRIKE PLATE STEEL
24 | #9 X 5/8" PFH WS STEEL
25 | OUTSWING HIGH-DAM THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUM./ COMP.
26 | #9 X 1.0"PFH WS STEEL
27 | OUTSWING THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUM./ COMP.
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
64 | #8 X 2'PFH WOOD SCREW STEEL

2 |03/02/15 | UPDATE TO 5TH ED. (2014) FBC
1 {12/16/14|REVISED LOCK HARDWARE

NOJ DATE

oATE: 1/18/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-15129.1

sHEET 7 oF 7

R:\Clients\Trinity PERMANENT\Florida Product Approvals\FL-15129\Drawings\Current\FL-15129.1-4.dwg, 7.1

REVISIONS

. © 2012 R.W. BUILDING CONSULTANTS INC.



